dormakabar«

TS 99 FLR-K EN 2-5

Montageanleitung / mounting instructions

f-—

04 Q N\ “ -+ =
cofao m
RO W 3 N o g
\S 75 - € w —
oOamucoanuowo 40,20 0% 0
22203705 0o ==
JBTRER
h S 4 %
0
5 © .
) o
o) @ T LMA/ 18 &
e ~ Q 85
o~
>
SN N NE i
\ —|®D o
G T
\ ) (ST 0
N .
5 T 2 [ S S RENC):
| ™ LT
2 oo E o
@ > = al? T 0 o
__ w o~ M .
LR @ z
R a n
o
0
o
<
=
1o)
o S e
N o M
o
10 Ol =
&3 ol . (S o
g T 8 1l o
== ﬂm 91 <
¢
K 5 8
N N
ot — (S 13
o 4
85 @ Y| 9>
18 H\
0
et %
o o
VA. \_
©
| =
—1- » h r
[=] =
6287L 8900 d0d 8900 d0d
0T/0L 'TESSY 8LO6SO NM
O|T|T|G€[8]|€]|9002:0v/200¢:TV/L66T:GGTT NI | 99-92000-4dO-C2EY0 E[T|T|SG-C|8]|1|9002:0v/c00Z:T¥/9661:¥STT N3 | 99-92000-4dO-C2E¥0 € T T |8[€| 10-8002:£€9%T NI NI
|eyedauuy /2 85 |eyodauul /72 85 |eyodauul 96z 8-
0 6007 Yoejsod w V €1 6001 Yoejsod w V T Zield YINYOA

HqWs puejyasinag eqexyewiop

Hqws puejyasinag eqexewsiop

HAWD pueyasinag eqexewop




TS 99 FLR-K EN 2-5




TS 99 FLR-K EN 2-5

= ®
®
@
Q (¢)
Q Q )
€@ . =
Spax 5x30
M5x20 ) II;HI\;I N
./ :
s 230V AC

m S




TS 99 FLR-K EN 2-5

Spax 5x30

M5x20

Spax 4,5x45

M5x40

Spax 5x60

M5x50

~  Spax 5x60

Spax 4,5x45

230 VAC




TS 99 FLR-K EN 2-5

950 mm | 1250 mm

EN 2-5

230V AC




TS 99 FLR-K EN 2-5

[

230V AC




TS 99 FLR-K EN 2-5




15 99 FLR-K EN 2-5

Subject to change without notice

Anderungen vorbehalten

dormakaba Deutschland GmbH

DORMA Platz 1

58256 Ennepetal

Deutschland

T: +49 2333 793-0

F: +49 2333 793-4950

www.dormakaba.com



